

Vendor Ranking

Page 1 of 1

Letting: 05220907

September 07, 2022 02:00

Call Order: 010

Contract: E5X99-R0

PM

District: District 5

Contract Time: 365 CALENDAR DAYSContract Desc: Emergency Roadway Repair

Counties: BREVARD, DIST/ST-WIDE, FLAGLER, LAKE,

MARION, ORANGE, OSCEOLA, SEMINOLE,

SUMTER, VOLUSIA

Fed Aid No: N/A
Project(s): 42914217214 (*)

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TURTLE INFRASTRUCTURE PARTNERS, LLC	Responsive	Winning bid	\$2,691,750.00	100.00%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 5

05220907 Letting: Call Order: 010 Contract: E5X99-R0 September 07, 2022

District: District 5 Fed Aid No: N/A Counties: BREVARD. DIST/ST-

WIDE, FLAGLER, LAKE, Contract Time: 365 CALENDAR DAYS **Project(s):** 42914217214 (*)

MARION, ORANGE, Contract Descr: Emergency Roadway Repair OSCEOLA, SEMINOLE, **FDOT District 5**

Proposal ID No.: E5X99

Financial Project No.: 429142-1-72-14

Fiscal Year: 2023 Counties: District-wide Calendar Days: 365

SUMTER, VOLUSIA

This is a Maintenance Work Document driven Contract with a budgetary ceiling of \$1,000,000. This Contract includes an option for renewal.

Intent:

The work under this Contract consists of roadway repair, including asphalt surface and base, concrete curb & gutter. sidewalk, and subsurface pressure grouting. The purpose of this Contract is to immediately and efficiently perform repairs to state road facilities damaged by adverse events within District 5.

Experience:

For this Contract the Contractor is required to have at least three (3) years of experience in the performance of asphalt paving projects, or the Project Superintendent must have at least three (3) years of like experience as a Superintendent. A Contractor that presently has a certificate of pregualification with the Department in "Hot Plant Mix Bituminous Course" will suffice to meet the above requirements.

Note:

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum guantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Line No / Item ID Alternate Quant Item Description Units () indicates item is bid as Lump Sum		(1) TURTLE INFRASTRUCTURE PARTNERS, LLC Unit Price Ext Amount	Unit Price Ext Amount		Unit Price Ext Amount	
SECTION: 0001	(EMERGENCY	PAVED ROAD REPAIR (TN				

0005	0110 2 1	1.000	75,000.00000	75,000.00
	NG & GRUBBING (PUSH N CONTRACT)	AC		





Tabulation of Bids

Page 2 of 5

Letting	g : 05	5220907	September 07,	2022 Cal	l Order: 010		Contract:	E5X99-R0	
Item	No / Item ID Description	Alternate	Quantity Units	(1) TUI INFRASTR PARTNEI	UCTURE RS. LLC				
() ind	dicates item is bid	· ·	(51155 6516)	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(EMERGENCY	PAVED ROAD RE	PAIR (IN				
0010 EMBAN	0120 6 KMENT		50.000 CY	400.00000	20,000.00				
0015 TYPE B	0160 4 STABILIZATIO	ON	450.000 SY	50.00000	22,500.00				
0020 GROUT	0173 76 PIPE INSTALI	LATION	3,500.000 LF	34.00000	119,000.00				
	0173 77 1 RFACE PRESS CEMENT	SURE GROUTI	6,000.000 NG, CY	350.00000	2,100,000.00				
0030 OPTION	0285709 NAL BASE, BAS	SE GROUP 09	550.000 SY	175.00000	96,250.00				
	0327 70 6 G EXISTING AS ENT, 1 1/2" AV		250.000 SY	50.00000	12,500.00				
	0334 1 53 PAVE ASPHAL C C, PG76-22	TIC CONCRE	25.000 FE, TN	750.00000	18,750.00				
	0337 783 LT CONCRETE E,TRAFFIC C,		10.000 TN 6-22	1,000.00000	10,000.00				
	0430175118 ULVERT,OPTIC IAL,ROUND, 18		160.000 LF	200.00000	32,000.00				





Tabulation of Bids

Page 3 of 5

Letting:	052	20907	September 07,	2022 Cal	II Order: 0°	10	Contract:	E5X99-R0	
	o / Item ID escription	Alternate	Quantity Units	(1) TUI INFRASTR	RUCTURE				
() indica	ates item is bid a	as Lump Sum		PARTNE Unit Price	RS, LLC Ext Amour	nt Unit Price	Ext Amount	Unit Price	Ext Amount
;	SECTION: 0	0001	(EMERGENCY	PAVED ROAD RE	PAIR (TN				
PIPE CUL)430175124 VERT,OPTION L,ROUND, 24"		100.000 LF	200.00000	20,000	0.00			
	0520 1 7 TE CURB & GI	UTTER, TYPE	100.000 E E LF	100.00000	10,000	0.00			
	0520 1 10 TE CURB & GI	UTTER, TYPE	100.000 EF LF	100.00000	10,000	0.00			
CONCRET	0522 1 TE SIDEWALK YS, 4" THICK		25.000 SY	100.00000	2,500	0.00			
CONCRET	0522 2 TE SIDEWALK YS, 6" THICK		25.000 SY	100.00000	2,500	0.00			
	0527 2 BLE WARNIN	GS	15.000 SF	300.00000	4,500	0.00			
	0570 1 2 MANCE TURF,	, SOD	50.000 SY	50.00000	2,500	0.00			
	0705 11 1 ΓOR, FLEXIBL	E TUBULAR	25.000 EA	150.00000	3,750	0.00			
PAINTED I	0710 11170 PAVEMENT I RD, WHITE, AF		10.000 EA	200.00000	2,000	0.00			



Tabulation of Bids

Page 4 of 5

Lettin	g : 05	5220907	September 07,	2022 Cal	I Order: 010		Contract:	E5X99-R0	
Item	e No / Item ID n Description	Alternate	Quantity Units	(1) TUI INFRASTR PARTNEI	UCTURE				
() in	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(EMERGENCY	PAVED ROAD RE	PAIR (TN				
0100 MOBILI RESPO	E101 72 IZATION (EMEI DNSE)	RGENCY	5.000 EA	25,000.00000	125,000.00				
MARKE	E706 1 42 CTIVE PAVEM ER(REMOVE A CE)(CLASS B)	ND	200.000 EA	5.00000	1,000.00				
	E710 11121 ED PAVEMENT PARD, WHITE, S		500.000 LF	1.00000	500.00				
	E710 11141 ED PAVEMENT PARD, WHITE, S		500.000 LF	1.00000	500.00				
	E710 11221 ED PAVEMENT PARD, YELLOW		500.000 LF	1.00000	500.00				
	E710 11241 ED PAVEMENT PARD, YELLOW		500.000 LF	1.00000	500.00				
0	001 EMERGEN ROAD R	NCY PAVED S EPAIR (TN)	ection Totals:	1	\$2,691,750.00		ı		

Contract Grand Totals:

\$2,691,750.00



09/16/2022

Tabulation of Bids

Page 5 of 5

Letting: 05220907

September 07, 2022

Call Order: 010

Contract:

E5X99-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.